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Nombre: Fecha: Puntuacion:
10, 674 x 1000 = 1,71 x 10 =
5,913 x 1000 = 9,88 x 100 =
4,31 % 100 = 7,367 x 10 =
10, 805 x 1000 = 1,604 x 10 =
2,083 x 10 = 4,438 x 1000 =
7,43 x 10 = 3,268 x 1000 =
1,086 x 1000 = 9,304 x 100 =
8, 648 x 1000 = 10, 058 x 1000 =
7,07 x 100 = 5,246 x 100 =
4,477 x 1000 = 3,213 x 100 =
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Nombre: Fecha: Puntuacion:
10,674 x 1000 = 10674 1,71 x 10 =17.1
5,913 x 1000 = 5913 9, 88 x 100 = 988
4,31 x 100 =431 7,367 x 10 =73.67
10, 805 x 1000 = 10805 1,604 x 10 = 16.04
2,083 x 10 =20.83 4,438 x 1000 = 4438
7,43 x 10 =743 3,268 x 1000 = 3268
1,086 x 1000 = 1086 9,304 x 100 =930.4
8, 648 x 1000 = 8648 10, 058 x 1000 = 10058
7,07 x 100 = 707 5,246 x 100 = 524.6
4,477 x 1000 = 4477 3,213 x 100 =321.3
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